. a.Pr(E)=03+02=05
b. Pr(F)=0.2+04=06

c. PI(E|F] = ? =0.3333

| 0.2
d. Pr(F|E)=—=04

. a. Pr(E}=%+% %

b. Pr(F)=1+

2
3

1,1
6 " 2



th

1 1 1 1
c. Pr(E|F)=2=- c. Pr(FIE)=3=2=
T2 4 L 2
3 2
1 Pr(ENF)
: _s_1 7. a Pr(F|E)=——
d P'r{_F|E'i—%—3 Pr(E)
.25=—PT(EQF}
01 1 -
. A.Pr(E|F|=—=— _
(EF)=57=7 PH(ENF)=0.1
01 b. PHEUF)=04+03-01=0.6
b. Pr(F|E)=—=—
05 3 01 1
c.Pr(E|F|=—=-
04 2 - 03 3
pe(elF) =222
06 3 ;
d. PE'NF)=03-01=02
02
d. _F = =_
=553 8. a. pr(F | £) = XENF)
Pr(E)
02 2 EnNF
Pr(E|F)]=—== 04=ENF)
03 3 0.5
PHENF)=02
2
FlE &:l
06 3 b. P{EUF)=054+03-02=06
04 4 02 2
Pr(E|F) === c.Pr(E|F)=—5=3
d (E|F]_ﬂ_i=i d. PHENF")=05-02=03
a. Pr(EﬁF}——+———=— Pr(not 7)
12 3 12 5
El
N Pr(8|uot?}—E
E|F]_T3=_ 3;
I Pr(§|not 7)==
5 1
pe(FlE)=12=2= 2 2 1
1 10. Blone3))=——=—=—=02
7 4 Pr8lone 3) =2 =105
1 1 7 3 1 11. 0: because exactly one com shows heads
- A Pr(EﬁF)__"'___:_:_ therefore there are two tails.
3 12 12 4
1 12. 0; because exactly one coin shows tails
b. Pr(E|F)= —1_3
% 4 13 [number of outcomes that four are whate]

[number of outcomes that at least 1 15 white]



14.

ju—
th

16.

17.

18.

19,

c(7.4 35
C(12.4)—C(5.4) 495-5
35

4%

= L = 0.0714
14

[number of outcomes that two are whate]

[number of outcomes that at least 1 1s white]
c(2. 2
T 0(5.2)-C(3.2)
1

~10-3

= l-‘:‘d 0.1429
7

Pr(both girls|first girl) = %
Pr{both girls|at least one girl) = %

Pr(grad|more $45,000)=

Prigrad and =45000)

Pr(> 45000)
_ 010

025
2
—Z=04
5

Primasters and female)
Pr(female)

Pr(masters| female)=

a. PI(I'--IastvE;rs)=ﬂ r2 0.2937
2898
1201
b. Pr(Male)=—— = 0.4144
2898

522
C. Pr(FemalelMaswrsFE = 0.6134

d. Pr(Doctors|Female)=—~— s 0.0548
1697

. a. Pr{Officer)=

a. Pr(Voted)=—2:2 ~ 0.4976
) 1853

B85
b. PriMale)=——— ~= 04776
) 1853

4972
¢. Pr(Female|Voted)= 93 7 0.5336

d.Prﬁ’otcd|hIale}=% ~ 0.4859

2286

1291.8

= 0.1770

183.2
1291.8

b. Pr(Marine)= 7 0.1418

207

c. Pr(Officer and Manne)=
1291.8

7 0.0160

0.7

. 2
d. Pr{ OfficerMarne)=——— = 0.1130
i el ) 1832

) 207
e. Pr{Marne|Officer)=——— 7= 0.0906
2286

a. PI(Busiuess}=£ =
2500

1000
b.Pr{Female)l=—— =04
r(F ) 2500

: 102
¢. Pr(Female and Business)=—— = 0.0408
2500

d. Pr{Male|Social Smdies}=% r2 0.4841
; : 130
e. Pr(Social Studies|[Female)=——=10.13
1000
1
7 2
Pf($5|$5}:T=—
173
2
1
Pr(Gold|Gnld}=% ==
4312 1 0004525
52 51 2652 221
13 12 156 1
—= =—rs 005882

52 51 2652 17



